TEMPLATE FOR 34 SERIES MAGNALOCK (STANDARD MOUNT)
I WARNING: DO NOT DRILL INTO MAGNET OR STRIKE FOR ANY REASON !

1. See installation instructions for full information and troubleshooting.

2. The relationship between the two magnet mounting holes is critical. Do not let your markings or drilling wander.

3. Do not overdrill the diameter of the 3/8” magnet mounting holes or the blind nuts will not seat.

4. Make sure the blind nuts are collapsed.

5. Do not over tighten the magnet mounting screws.

6. Be careful not to scrape the magnet cable when pushing it back into the frame.

7. The two rubber washers stack one on top of the other and mount in between the strike and the door around the center strike mounting screw. Do not place the washers on the roll pins.
8. When inserting the sexbolt from the outside of the door, do not insert it in fully until you have started the mating screw from the other side. This will insure thot the sexbolt will go in straight.
9. Do not over tighten the strike mounting screw into the sex bolt.

10. Make sure that the strike plate floats and pivots around the center mounting screw. This compensates for door misalignment. If the strike is mounted rigidly, the Magnalock will not hold.
11. Roll pin plastic bushings may be omitted if the lock is not a Senstat ("SC”) version. If the bushings are not used, drill 3/8" holes for the strike roll pins.

12. DO NOT PHOTOCOPY TEMPLATE (dimensions will change).

it CUT OUT ON DOTTED LINE-——=--—--—-———————-

T + + - +
\‘—/ STRIKE \\T/
725 2.25 2.25

.95

a
| |
; 2 X SCREW MOUNTING HOLES ;
\ 3/8” DIA. WHEN BLIND NUTS ARE USED \
; 3/16” DIA. WHEN BLIND NUTS NOT USED ;
| |
‘ 8.75 ! ‘
I 4 I
T * + |

2 \ I
} ! (+ : . MAGNET BODY 375 ‘
| + —t |
| |
| { |
| |
| |
L= 5 - 1.200 T 3/8” DIA. WIRE WAY HOLE 625 == 5 =
| HEADER =
| 650 POSITION EDGE OF MAGNET 1/2” FROM FRAME CORNER TO PROVIDE DRILLING CLEARANCE =
| )]
T aate nE R - FOLD ON THIS LINE= = == === == === == == = m o oo oo =
|
! ; 3
| DOOR T 2 X 1/2” DA, 1/4" DIA. THROUGH DOOR -
‘ o0 e / T DEEP INTO DOOR 3/8” DIA. FROM OTHER SIDE 8
} FOR PLASTIC BUSHINGS FOR SEXBOLT 5

(@]
|
| =
| o)
| o
| |
| |
| |
| |
| |
| |

_

PN# 500-20230 Rev. B Jecuanno"



Template For M34R Mortise Series Magnalock

HOLLOW METAL AND ALUMINUM / STEEL TYPE FRAMES
Fi

h Mount Brackets Used

File Corners

******************************************* Magnet Body Top Assembly View — For: Reference Onlyl ----------------~---—-~—-~-~—~"—~—-~—~—~~—~—~—~—~—~—~—~—~—~—~—~—~—~———J
T o T e R T T T e CUT OUT ON DOTTED LINE —=--=-—=--=--——-—————————— -
i Cut Ou is Area For I
I Lock Bracket Mounting. 5.275 !
i Note: Depth For Mounting 4 x Lock Mount Bracket Holes: 4.975 |
i 1s To Be 1/16" Deep. 9/64" Dia. x 1/2” Deep For Wood Screws 47925 | |
! (Both Ends) | : \ !
: g :
: f + - - DH 75 !
! Cut Out This Area For E !
I 9 * Lock Mounting Clearance. g‘ ¢ Magnet ¢ |
I - - - - . - - - - I
! Note: Depth For Mounting Is = !
| ‘ 45 % To Be 1—1/8" Deep Minimum. - 1.5 |
| O - - e |
‘ S L
I I
| | 9.45 | |
I - I
1 9.95 Chisel Corners |
! 10.55 Square (8) !
! SOLID WOOD TYPE FRAME !
! Flush Mount Brackets Not Used !
i e i (See Installation Instructions: Section 2.1.2) B i it
e CUT OUT ON DOTTED LINE —=======--—-———————————————————————
I 6 x Flush Mount Bracket Holes: 6.000 I
! 13/64” Dia. , Countersink (3/8" Dia . !
! 5.625 !
I For Flat Head Machine Screws - | I
I I
! 5.275 | !
| P Fro
I I
! + — — + }— le} !
P = O N
\.9 C |
| ‘g = .
| A (€3 ol
I + — — +} I
T ~J Y
I I
I I
! | 10.550 } !
; 11.250 ;
; 12.000 ;
I I
I I
I I

PN# 500-20200 Rev.A

DO NOT PHOTOCOPY TEMPLATE (dimensions will change)

(See Installation Instructions: Section 2.1 and 2.1.1)

Square (4)

—J ECURITRON

(500-20200—14)

3/8" DIA. FROM OTHER SIDE
- +
2.25 T

1/4" DIA. THROUGH DOOR
FOR SEXBOLT

G Strike
6.4

©
A
=
)

+},

STRIKE

2 X THROUGH "Z” BRACKET
3/8” DIA. WITHOUT BUSHING
1/2" DIA. WITH BUSHING




Template For M34R Mortise Series Magnalock Recessed Strike (Slider Door)

A,

- - - - - - - - = - - - - - - - 7 =
| |
B e VA |
| | SLIDER DOOR
‘ ~— 1 500 ——==— ‘ (SIDE VIEW)
| —= /50 |
| |
| \ | \ I
| | i ‘
\ [ \ N
\ y \ I
| > \ N
a
| 8 \ I
5
| g | N
| z | I
o
| o e | N
| e ° \ I
N =
| = 2 ! I
| | \ I
| | —= | 1.050 |==—0 I
| | | N
| ° | | [
| 5> | ! /'QQ I ;
| = | \ A—é\ + /1 1
| ©’ I € Magnet ! = b
| * ‘ - \ s R
5 | / \ I
| 8 | | +Hh I
| | N 7
2 < o | | -~ |
5 S \ \
8 0 | \
= )
) © | | |
[}
= | | N
c | \ I
° | | I
_
5 | \ I
(@]
: | | N
| | \ I
| | | N
| | | N
| | \ N
| | . |
| | | | |
| ‘ |
L - - - - — - — L — cuT OUT ON DOTTED LINE — — — — — — — — — — —

PN# 500—-20200 Rev. A

DO NOT PHOTOCOPY TEMPLATE (dimensions will change)

/

CUT OUT ON DOTTED LINE — —

- — — — — — — — — — — — — — —CUTOUT ON DOTTED LNE — — — — — — — -

(See

SLIDER AND STRIKE
ASSEMBLED VIEW

. . . 1/2 SCALE
Installation Instruction: Section 2.2)

Drill two (2) 5/16" diameter holes thru frame of the door.
Holes for sex bolt side, re—drill to 3/8” diameter.

Holes for mounting screw side, countersink to 17/327
diameter maximum for flat head screw flush fit.

Insert the strike mounting block into the frame of the
door while lining up the holes for the sex bolts.

Insert the sex bolts into holes. Do not force the sex
bolts into the door holes and mounting block.

Insert the screws into the sex bolts until snug.

While tightening the screws, lightly tap on the sex bolts
to assist proper insertion and alignment.

) When the sex bolts are fully set, the door is now ready

for the strike installation.

Place Securitronl.eps Logo
In This Area

(500-20200-2A)




